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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2_0, Day=26 (2025-06-07)
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cumET (ml/plant)



m=340, FV0=0 m=390, FV0=0 m=435, FV0=0

25 —&— ME —&— ME
45 - 45 +
24 40 -
40 +
23 35 1
30 - 35
22
-@— ME i
- 25 30 -
T T T T T T T T T T T T T
400 600 800 1000 340 345 350 390 395 400 435 440 445
m=480,m FV0=0 m=525,m FV0=0 m=570,m FV0=0 m=610,m FV0=0
1 ® M_E 45.0 + M_E “0. M E NE
42.5 - 45 7
40 - 38
40.0 +
38 36 - 40 1
37.5 4
36 1 34 -
35.0 A 35 4
34 + 32
32.5 A
32 + 30 A 30
30.0 +
T T T T T T T T T T T T T T T
484 486 488 490 492 494 525 530 535 570 575 580 610 615 620
m=640,m FV0=0 m=680,m FV0=0 m=725,m FV0=0 m=770,m FV0=0
45.0
44 - ME —@— ME 40 A —&— ME 45 4 —&— ME
42.5
42 1 38 -
40. 0
i 40 +
40 36 -
38 _ 37 5 T
34 35
36 35.0 +
32 4
34 4 32.5 A 30 A
30 +
321 T T T 30.0 1 T T T T T T T T T
640 645 650 680 685 690 725 730 735 770 775 780
m=810,m FV0=0 m=845,m FV0=0 m=875,m FV0=0 m=925,m FV0=0
45 4
- ME -o— ME 42.5 1 —@— ME -@— ME
40 1 42.5 1
38 1 40. 0 4 40. 0 A 40
36 37.5 1 37.5 A
34 35.0 A 35.0 35 1
32 + 32.5 A
32.5 A
30 - 30.0 - 30 7
30. 0 A
810 815 820 845 850 855 875 880 885 925 930 935
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25.
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m=980, FV0=0
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m=1035, FV0=0

—o— ME

1640 1645
m=435,n FV0=0

T
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| —e— mw
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—— MW
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m=770,n FV0=0
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24.

25.

25.
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24 -

22 A

20 A

18

M_W

T T T
600 800 1000

m=480,m FV0=0

T
400

-o— MW

T T T T
488 490 492 494

m=640,m FV0=0
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484 486

—-— MW

6&5 660
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—— MW

810 815 820

m=340, FV0=0
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16.
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3&5 3%0
m=525,n FV0=0
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24.0 A

23.

23.
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m=680,n FV0=0

27 A
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25 H

24 -

—o— MW
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m=845,n FV0=0

26.5 A

26.0

25.5 ~

25.0 A

24.5 A

24.0 -

23.5 A

—0— MW

845

850 855
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24.
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m=875, FV0=0

—0—

M_Ww
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25.0

24.5

24.0

23.5

23.0

——

M_W

980

T
985

990

26.

25.

25.

24.

24.

23.

23.

m=1035, FV0=0

—0—

MW

T
1035

T
1040

T
1045




hour

:50
125
:05
:45

'

>

L

Ng
%
%

R
-

o

]

§_

2

100

80

- 60

- 40



G3-2

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:15 125 80.0 1.728 = {RRi8006:15 Bah (RAEESE)
06:55 125 80.0 1.728 5| 1Ri&e06:55 B (REAEHS)
07:40 125 80.0 1.728 E BRi&e07:40 Bzl (GRAERSE)
08:30 125 80.0 1.728 = {Ri%@08:30 B (RFAERSE)
09:10 125 80.0 1.728 =l RRiB009:10 Bz (RFAEEE)
09:50 125 80.0 1.728 = RRiB009:50 Bz (REAEEE)
10:30 125 80.0 1.728 5 {Ri%@10:30 B3 (RAERSE)
11:15 125 80.0 1.728 =l {Rige11:15 B3 (GRAERSE)
12:05 125 80.0 1.728 =l RRiBe12:05 Bah (REAKEE)
12:55 125 80.0 1.728 E| {Rige12:55 Bzh (RE{ERSE)
13:40 125 80.0 1.728 F BRige13:40 Bz CGRAERESE)
14:15 125 80.0 1.728 =l Rige14:15 Bz (REAKEE)
14:50 125 80.0 1.728 E BRige14:50 Bz (GRAERESE)
15:25 125 80.0 1.728 F BRige15:25 Bz CGRAERSE)
16:05 125 80.0 1.728 = RRiB016:05 Bz (REAKEE)
16:45 125 80.0 1.728 E BRige16:45 Bzl (GRAERESE)
Eit]2000.0 (167%) 1280.0 32 3KEC: 2700.0, PH: 6.5

REXREBIPH (10.56) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.56) 5FPH (6.5) REKK, FHE
LRGEBIPH (10.4) 58FEE (6.5) REKK, BFRE.
LORGEBIPH (10.4) S5#EAE (6.5) REHKK, HRE.




G3-2_0, Day=25 (2025-06-06)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

gofF——————f————————Ff T 9 T ]
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1059
890 92 - 1000
60 816 78
20 605 55
L 500
20 -
0 Warning: lcol [FVI',| "FVO’'] missing 6
-0
450
L 40
(NN
=
L 30
L 20
4
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
3250 4, tECO=1800. 0, setECB=2700.0 —¢  ECB*10%
® ECC
3000 P VIS VI VA VAR VR VR VA
°
2750 4+ ——— e e ey ]
® { [ J
°
°
2500 ® o
o [
@ [ ] [ ] ® o ® ® ® Y
104 optPHO=6. 5. setPHB=6.5 —¢  PHB*10%
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; 4
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1 L 1000
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& +o—0—0—— S
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T T 2T 3T 215716117 ]8T lo9 10] 11213 @a]mBli6]i7]i8]m 20 21]2]2]°
A I N I O O O O O I O I
200 -
L 1000
100
- 500
T T Tz T 3T 2151611 7 8 ToTw0] 11 2] 114a]m|i6]i7]i8]m 20 21]2]23]°
| Bz | W | & | % | W | B | | W | w5 | B | B | | W | W5 | B | B | B | B |Bn (25| Ba 55| B |,
1
200 ~ ByWoFy @D27 01:40: ET=1059 Fg=1280.0 Ro=265.0
: L 1000
100 - :
I - 500
1
——+0——0—0—
1.0 p—ma—»>1a P 0
0 1] 21 3 451161 71 81 9 1011 12131415 ]16]17] 18] 197207 21 [ 22 [ 23
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0.2 -
0.0
—_— 4
1500
[ ] | _obs
—@— PPFD obs
1000 -
500 -
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FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=370, FV0=0

50 - 1.0
45 0.8+
40 0.6 -
35
0.4+
30 A
0.2 A
251 @ ME Warning: col ['M_E'] missing
T T T T T 0 0 T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=585,m FV0=0 m=635, FV0=0
42.5 1 —e— M_E —o— M_E
4 -
40.0 4 5
37.5 - 10
35.0
35 A
32.5 A
30.0 - 30 1
T T T T T T
585 590 595 635 640 645
m=870,m FV0=0 m=940,m FV0=0
50 +
36 —o— ME —o— ME
34 - 45 -
32 A1 40 A
30 35 -
28 A
30 +
26
25 +
24 i T T T T T T
870 875 880 940 945 950
m=370,m FV0=0 m=430,m FV0=0
1.0 1.0
0.8 ~ 0. 8 1
0.6 - 0.6 -
0.4~ 0.4 -
0.2+ 0.2 -
Warning: col "MW ] missing Warning: col "MW ] missing
0. 0 T T T T 0- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1

.0

1.0

m=430, FV0=0
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Warning: col ['M_E'] missing
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T T
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Warning: col "M W ] missing
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Warning: col ['M_E'] missing
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m=635, FV0=0
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21.5 4
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G3-2

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

06:30 121 80.0 1.728 E 1BRi%e06:30 Bzl (RAERE)
07:20 121 80.0 1.728 E|  {Ri1ge07:20 Bah (RFE{EREE)
08:30 121 80.0 1.728 (& =| 1i8008:30 Bzh (KHEEREE)
09:15 121 80.0 1.728 FA| {Ri%@09:15 Bz (RkAMEESE)
10:00 121 80.0 1.728 FA| {Ri%@10:00 Bz (GkAEESE)
10:45 121 80.0 1.728 FA| 1BRi%@10:45 B3h (KRAHERESE)
11:40 121 80.0 1.728 FH| 1BRige11:40 Bzh (GRAEREE)
12:30 121 80.0 1.728 FA| {Ri%@12:30 Bz (GkAEESE)
13:20 121 80.0 1.728 |Z=| 1BRi&e13:20 Bzh (REERESE)
14:05 121 80.0 1.728 (2 =| 1BRige@14:05 Bzh (REERESE)
15:00 121 80.0 1.728 (2 =| {Ri%@15:00 Bz (REAEHSR)
16:10 121 80.0 1.728 |Z=| 1BRige16:10 Bzh (REERESE)
Bit] 1452.0 (12)%) 960. 0 3ZHKEC: 2700.0, PH: 6.5

BEXREBIPH (10.55) 5i8EPH (6.5) IREWR K, BT
FEREBPH (10.55) 5FPH (6.5) REKK, FHE
LRGEBIPH (10.6) 5i&8EE (6.5) REKK, BFRE.
LOXRGEBIPH (10.6) S5#EEE (6.5) REHKK, HRE.




FRV (ml plant-1)

3000 -

2750 -

2500

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-2_0, Day=24 (2025-06-05)

B0 F——————————— e ———— e —— e ——mmm—m———mm———mmmmmmm——mmm——mmm———m—mm—————mmm—— =]
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Warning: lcol ['WC1’,

"WC2' ] missing
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35.

35.

34.

34.

33.

33.

m=395, FV0=0 m=455, FV0=0 m=520, FV0=0
51 4
47 1
50 52
46 50
45 50
45
49
40 - 44 48 -
43 48
35 4 46
T T T T T T T T T T T T
400 600 800 395 400 405 455 460 465 520 525 530
m=595,m FV0=0 m=650,m FV0=0 m=750,m FV0=0 m=835,m FV0=0
90 ~ 48 48
50 -
46
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48 - 44 4
48 ~ 44 -
42 1
46
46 - 27 40 -
44 - 40 38 +
44 - T T T T T T T T 36 - T T T
595 600 605 650 655 660 750 755 760 835 840 845
m=930,m FV0=0 m m=395,m FV0=0 m=455,m FV0=0
—@— ME 35.0 - —-@— MW 33.5 A —-@— MW —0— MW
] 35
32 5 33.0
32.5 A
30. 0 A
34
32.0 ~
27.5 1
31.5
25.0 A 33 4
31.0 ~
22.5 A
935 940 400 600 800 1000 395 400 405 455 460 465
m=520,m FV0=0 m=595,m FV0=0 m=650,m FV0=0 m=750,m FV0=0
33
9] 34 - 28  —O—
0 32
33 A 27 4
5 A 31 4
0 - 32 + 26
30 A
5 -
31 A
29 - 251
0 -
T T T 30 T T T T T T T T T
520 525 530 595 600 605 650 655 660 750 755 760




m=835, FV0=0
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—0—

M_w
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m=930, FV0=0
267 _o— mw
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23 -
T T T
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G3-2

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:10 121 80.0 1.728 E BRi&e06:10 Bzl (RAEREE)
06:45 121 80.0 1.728 = RRi8006:45 Bzh (RAEESE)
07:20 121 80.0 1.728 = {RRiB007:20 B (RFAEEE)
08:15 121 80.0 1.728 E BRi&e08:15 Bzl (RAEREE)
08:55 121 80.0 1.728 = {Ri%@08:55 B (RFAERSE)
09:30 121 80.0 1.728 = {RRi8009:30 B (RFAEEE)
10:05 121 80.0 1.728 5| {Ri%@10:05 B3 (RAERSE)
10:40 121 80.0 1.728 S| Ri&10:40 Bzh (RAEFES)
11:20 121 80.0 1.728 =l {Rige11:20 B3 (RAERSE)
12:05 121 80.0 1.728 Sl {Rige12:05 B3 (REAERSE)
12:50 121 80.0 1.728 E| {Rige12:50 B3h (RE{ERESE)
13:40 121 80.0 1.728 F BRige13:40 Bz CGRAERESE)
14:10 121 80.0 1.728 Sl Rige14:10 B3 (RAERSE)
14:40 121 80.0 1.728 E BRige14:40 Bz CGRAERESE)
15:15 121 80.0 1.728 F BRige15:15 Bz CGRAERESE)
15:50 121 80.0 1.728 =l {Rig@15:50 B3 (RAERSE)
16:25 121 80.0 1.728 E BRige16:25 Bzl (GRAERERE)
17:05 121 80.0 1.728 =l Rig0@17:05 Bah (RAEESE)
2it]2178.0 (18X%) 1440.0 3ZHKEC: 2700.0, PH: 6.5

BEXRERLPH (10.85) 5i&EPH (6.5) IREW K, BT
FEREIPH (10.85) 5FPH (6.5 REKK, FHE
[E;%EC (1683.0 vs 1710) {RIE
FURGEEIPH (10.5) 5i8EE (6.5) REK K, BT,

LORGEBIPH (10.5) S5#REVEN (6.5) RERK, BRE.




G3-2_0, Day=23 (2025-06-04)
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Warning: lcol [FVI',| "FVO’'] missing 34

o
I
T
o

=

— ME
maxM | 55

(e
o
1
T

(=2}
o
1

NN]
- 50 =

FRV (ml plant-1)
D
S
1

N
o
1

- 45
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o
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0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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3000 1+ optECO=1800.0, setECB=2700.0 —>—  ECB*10%

® ECC
2800 - M X—X

_ ®
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10 4 optPH0=6.5, setPHB=6.5 —é—  PHB*10%
o PHC
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